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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4

o] | e vifdbt epe Tes fam

(a) Define rank correlation.

G TIRS AR 7 |

(b) Find geometric mean of 8 and 2.
8 ¥ 23 BTG My Bferea |

{¢) Define median.
NS g et o
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(d) Find range from the following :

(2)

o A1 B [ AR Tferear
150, 100, 200, 400,

(e) What is skewness?

SR 2

() Mention one merit of scatter diagram.

73 foa3 Qo1 3 SrE 911

(g9 Can correlation coefficient be greater
than one?

ATTTE BN GFOLF ©IeF 2’ I ?

(h) Wha is parameter?

of15e1 12

2. Answer any three of the following questions :

w1 R @ oot opar Tag faan

(a) _Write two uses of MS-Excel.
MS-Exceld ‘i'fﬂ TR o o

(b) Find mode from the following data :
14 OUF °J1 IZEF S Sdl :
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X

S
10
15
20

2x3=6

f (frequency)
(IRIF@T)

2
6
13
7
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(3)

(c) Mention two disadvantages of
arithmetic mean.

B YR Yo! SRy Sra 30 |

(d) Mention two measures of dispersion.
fRozgeR o1 Mot TrE 390 |

(e/ What do r=0 and r =1 mean?
r=09% r =1 & 3w °?

() Distinguish between an estimate and an
estimator.

R F FFPI A& A1y (7 T 1

3. Answer any two of the following questions :
5x2=10

wog R e 4ot o] e fo
(a) Find median from the following data :

o] O] 2] YT Sfe1ERT ¢

Marks No. of Students
(779) (RIF-=IH 7R3
10 8
20 15
30 22
40 20
50 10
60 5
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(4)

(b) Explain the merits of mode as a
measure of central tendency.

I 2RISR Wol RoRY ILTI QPR A

411

(0 Find harmonic mean from the
following :
wore IR =ee NIy e ¢

5, 7, 10, 13, 15, 20, 25, 28

(d) Explain the difference between mean
deviation and standard deviation.

a5 v o e Rea= w1 w1 [Rm
91 |

(e) Explain the main features of
Spearman’s rank correlation coefficient.

PRoRRGFR @9 ADTER BN Yo QRERTR
T 0|

() What is an unbiased estimator?
Explain.

PO SFeTd & 2 I F1 |

4. Answer any three of the following questions :

10x3=30
el R @ fofRb! oR Tk o

(a) What are the qualities of a good
average? Discuss. L

«B1 o7 S1ed 2Pz [ R 2 Sees w1
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(S)

(b) Find arithmetic mean :
SIER WY Tfeied :

X
0-10
10 - 20
20 -30
30 -40
40 - 50
S0 -60

f
5

10
25
30
20
10

(c) Find mode from the following data :

e U 7] T OS] -

Size of Garment No. of Persons Wearing

(¢com=Id CSTv) (foraemeq 3133m)
28 10
29 20
30 40
31 65
32 50
33 15

(d) Calculate standard deviation from the

following data :

] ©] 2] T=F [[ve Sferean .

Profits (€ Lakh)
&7 (314 53T
0-10
10 — 20
20 - 30
30 - 40
40 - 50
50 - 60
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No. of Companies

(GF=2N717 713307)

12
17
23
39
16
03
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(6)

(e) Calculate Karl Pearson’s coefficient of

skewness :
Il FPRRe SHFeR QIRT Bieed
X f
12-5 28
17D 42
22-5 54
27-5 108
325 129
375 61
42-5 45
47-5 33

() Discuss how scatter diagram method is
used for studying correlation.

FoTER SEEY R o oI mafe W
IRIE I W, A 47

(g9 Find Pearson’s correlation coefficient
from the following data and interpret
the result :

Teq YT °_1 FPEReR ATTEE QAT Sfeedl
W[ FATFACO] AT I

Marks in Economics Marks in Statistics
(TYANST 797) (372301 A1 754)

48 45
35 20
17 40
23 25
47 45
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(7))

(h) From the following data, obtain the two
regression coefficients :

©eTq S {1 AR BF 6! Sferea ¢

X Y
6 9
2 11
10 S
4 8
8 7

* % &
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